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	Module 6: Lesson 5 ASSIGNMENT

This Module 6: Lesson 5 Assignment is worth 30 marks. The value of each assignment and each question is stated in the left margin.


	(30 marks)
	Calculating Probability


	(7 marks)
	Observations




	
	1.
	Complete the following tables as you toss your coin.



	
	a.
	Coin tossed in cup—10 times


	Heads
	Tails

	
	


	
	b.
	Coin tossed in cup—50 times


	Heads
	Tails

	
	

	
	


	
	c.
	Two coins tossed in cup—48 times


	
	Trials (Sets of 8)
	Total

	2 Heads
	
	
	
	
	
	
	

	1 Head

1 Tail
	
	
	
	
	
	
	

	2 Tails
	
	
	
	
	
	
	


	
	d.
	


	Trial 1
	

	Trial 2
	


	
	
	Analysis and Interpretation



	
	2.
	Tossing one coin


	(1 marks)
	a.
	When tossing one coin, what is the chance that you will get a head on any one toss?



Answer:

	


	(1 marks)
	b.
	What is the chance you will get a tail?



Answer:

	


	(1 mark)
	3.
	Theoretically, when you toss a coin ten times, how many heads and how many tails should you get? Check your results to see how close you were to this expected ratio.



Answer:

	


	(1 mark)
	4.
	Was the ratio of heads to tails closer to 1 : 1 when you tossed the coin 50 times than when you only tossed the coin ten times?



Answer:

	


	(1 mark)
	5.
	What generalization can be made about the number of times an event must occur to get the actual results near the predicted values, or exactly as predicted?



Answer:

	


	
	6.
	Theoretically, if you toss two coins together 48 times, how many times should you get the following results?


	(1 mark)
	a.
	Two heads



Answer:

	


	(1 mark)
	b.
	A head and a tail



Answer:

	


	(1 mark)
	c.
	Two tails



Answer:

	


	(1 marks)
	7.
	Compare your actual results from Table C to the predicted results made in Question 5. What could you do to get the actual results even closer to the theoretical numbers?



Answer:

	


	
	8.
	In the last part of the Procedure you are verifying the product rule. 


	(1 mark)
	a.
	What does this rule state?



Answer:

	


	(1 mark)
	b.
	According to this rule, how often should three consecutive heads come up on the average?



Answer:

	


	
	Conclusions


	(1 mark)
	9.
	Do Mendel’s F2 results conform to the probabilities and ratios previously summarized in this lab?



Answer:

	


	
	Now apply the concept of probability to a dihybrid cross using widow’s peak hairline and free earlobes as the inherited traits. Widow’s peak is dominant to a straight hairline, and free earlobes are dominant to attached earlobes. Use W for widow’s peak and w for straight hairline, and E for free earlobes and e for attached earlobes.




	(1 mark)
	10.
	What is the general rule for determining the probability of inheriting two specific traits at the same time?



Answer:

	


	(2 marks)
	11.
	What are the chances that two individuals heterozygous for widow’s peak and free earlobes, EeWw, will have a girl with a straight hairline and attached earlobes (do not forget that gender outcome is also a probability)?



Answer:

	


	
	12.
	In humans, Rh+ blood is dominant to Rh–. A man and woman are both Rh+, but their first child is Rh–. 


	(1 mark)
	a.
	What is the chance that their next child will be Rh–?



Answer:

	


	(2 marks)
	b.
	Calculate the probability that the next child will be an Rh+ girl.



Answer:

	


	
	13.
	In guinea pigs, black coat colour is dominant to white.


	(1 mark)
	a.
	What is the probability that a heterozygous black guinea pig crossed with a white one will produce a white offspring?



Answer:

	


	(1 mark)
	b.
	What is the predicted ratio of black to white offspring from this cross?



Answer:

	


	
	Using the rule of independent events and the product rule, consider the probabilities for the following dihybrid cross.


	
	14.
	Some dogs bark while others are silent when trailing prey. The barking characteristic is due to a dominant gene (B). Erect ears (E) are dominant to drooping ears (e). 


	(1 mark)
	a.
	If you crossed a dog heterozygous for both traits with a droopy-eared, silent trailer, what are the chances that one of their offspring will be dominant for both traits (erect-eared, barking trailer)?



Answer:

	


	(1 mark)
	b.
	What are the chances of these two dogs producing a droopy-eared, silent trailer?



Answer:

	


	(1 mark)
	c.
	If two dogs heterozygous for both traits were crossed, what would be the chance of them producing a droopy-eared, silent trailer?



Answer:

	


	Once you have completed all of the questions, submit your work to your teacher.




